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AREAS OF PARALLELOGRAMS AND TRIANGLES

lllustrations

1. In a parallelogram ABCD, AB = 8 cm. The altitudes corresponding to

sides AB and AD are 4 cm and 5 cm respectively. Find AD.

° Watch Video Solution

2. ABCD is a quadrilateral and BD is one of its diagonals, as shown in the

figure. Prove that quadrilateral ABCD is a parallelogram, also find its area.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OUk2ZKwhBomc
https://dl.doubtnut.com/l/_pvZhn3FBKdfY

o Watch Video Solution

3. Show that the segment joining the mid-points of a pair of opposite

sides of a parallelogram, divides it into two equal parallelograms.



https://dl.doubtnut.com/l/_pvZhn3FBKdfY
https://dl.doubtnut.com/l/_DByMShKU87Fu
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4. Prove that of all parallelograms of which the sides are given, the

parallelogram which is rectangle has the greatest area.

o Watch Video Solution

5. Show that a median of a triangle divides it into two triangles of equal

areas.

o Watch Video Solution

6. In Figure, ABCD is a quadrilateral and BE | AC and also BE meets
DC produced at E- Show that area of ADFE is equal to the area of the

quadrilateral ABCD

o Watch Video Solution



https://dl.doubtnut.com/l/_DByMShKU87Fu
https://dl.doubtnut.com/l/_6zm9Ayc3piNd
https://dl.doubtnut.com/l/_ECLFAhPYwe3B
https://dl.doubtnut.com/l/_NQ1pgfd7IMJP

7. The diagonals of quadrilateral ABCD, AC and BD intersects at O. Prove

that if BO = OD then the triangles ABC and ADC are equal in area.

° Watch Video Solution

8. The area of a trapezium is half the product of its height and sum of

parallel sides.

° Watch Video Solution

Solved Examples

1. Which of the following figures lie on the same base and between the

same parallels. In such a case, write the common base and the two


https://dl.doubtnut.com/l/_XfqOzHWdq8fu
https://dl.doubtnut.com/l/_UPsV1tfIURGs
https://dl.doubtnut.com/l/_bJulCwPYjhce

parallels.
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° Watch Video Solution

2. Compute the area of quadrilateral ABCD.

° Watch Video Solution

3. In the given figure ZAOB= 90°, AC= BC, OA = 12 cm and OC = 6.5 cm.

Find the area of A AOB.


https://dl.doubtnut.com/l/_bJulCwPYjhce
https://dl.doubtnut.com/l/_5HousVgxUxeQ
https://dl.doubtnut.com/l/_nH0Ze4OxdZDr

{1 f

° Watch Video Solution

4. PQRS is a rectangle inscribed in a quadrant of a circle of radius 13 cm

and Ais any point on PQ. If PS = 5 cm, then ar (APAS) = .

° Watch Video Solution



https://dl.doubtnut.com/l/_nH0Ze4OxdZDr
https://dl.doubtnut.com/l/_DQ1DsStH3RLw

5.Pis any point on the diagonal BD of the parallelogram ABCD. Prove that

ar( A APD)=ar( A CPD).

° Watch Video Solution

6. ABCD is a quadrilateral. The straight line through C parallel to the
diagonal DB intersects AB produced at E. Prove that the ar(quad. ABCD) =

ar( A ADE).

=y

° Watch Video Solution



https://dl.doubtnut.com/l/_Tt3PmcGZDuQO
https://dl.doubtnut.com/l/_8G3EYnIDsX4r

7.1n the adjoining figure, MNPQ and ABPQ are parallelogram and T is any
point on the side BP. Prove that
(i) ar(MNPQ) = ar(ABPQ)

(ilar( A ATQ) = %ar(MNPQ).

M A N B

Q P

o Watch Video Solution

8. In Figure, OCDE is a rectangle inscribed in a quadrant of a circle of

radius 10cm. If OF = 2,/5 , find the area of the rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_8G3EYnIDsX4r
https://dl.doubtnut.com/l/_CEpbcgNx8Kww
https://dl.doubtnut.com/l/_PRgylr5IHIhu

9. If the diagonals AC, BD of a quadrilateral ABCD, intersect at O,
and separate the quadrilateral into four triangles of equal area, show

that quadrilateral ABCD is a parallelogram.

° Watch Video Solution

10. Show that the area of a rhombus is half the product of the lengths of
its diagonals. GIVEN : A rhombus ABCD whose diagonals AC and BD

1
intersect at O- TO PROVE : ar(rhombusABCD) = E(ACQIBD)

° Watch Video Solution

11. A point D is taken on the side BC of a AABC such that BD = 2DC.

Prove that ar(AABD) = 2ar(AADC)

° Watch Video Solution



https://dl.doubtnut.com/l/_6aDjCMh3KJ5w
https://dl.doubtnut.com/l/_9JHfS1REEcct
https://dl.doubtnut.com/l/_cucDwzMUnh9q

12. In the given figure, BC|| XY, BX||CA and AB | | YC. Prove that

area (AABX) = area(AACY)

B C

o Watch Video Solution

13.In the given figure PSDA is a parallelogram in which PQ =QR= RS and AP

1 BQ Il CR Il VS.Prove that ar( A PQE)=ar( A DCF).


https://dl.doubtnut.com/l/_dCXx7X4ZRAj3
https://dl.doubtnut.com/l/_M62sbhxnnX5e

° Watch Video Solution

14. ABC is a triangle in which D is the midpoint of BC and E is the

midpoint of AD.


https://dl.doubtnut.com/l/_M62sbhxnnX5e
https://dl.doubtnut.com/l/_GNuLnvqbnZQu

1
Prove that ar( A BED) = Zar( A ABC).

A

B D C

o Watch Video Solution

Ncert Section Exercise 9 1

1. Which of the following figures lie on the same base and between the
same parallels. In such a case, write the common base and the two

parallels.


https://dl.doubtnut.com/l/_GNuLnvqbnZQu
https://dl.doubtnut.com/l/_fwIUUKBuQBU7
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° View Text Solution

Ncert Section Exercise 9 2

1. In the given figure ABCD is a parallelogram, AE | DCand CF L AD.If

AB =16 cm, AE = 8 cm and CF =10 cm,find AD.


https://dl.doubtnut.com/l/_fwIUUKBuQBU7
https://dl.doubtnut.com/l/_XENvif6UqttJ

° Watch Video Solution

2. If E,F,G and H are respectively the mid-points of the sides of a

1
parallelogram ABCD, show that ar(EFGH) = Ear(ABCD)-

° Watch Video Solution

3. P and Q are any two points lying on the sides DC and AD respectively of

a parallelogramABCD. Show that ar (APB) = ar (BQC).

° Watch Video Solution



https://dl.doubtnut.com/l/_XENvif6UqttJ
https://dl.doubtnut.com/l/_YBiP2STJXBcp
https://dl.doubtnut.com/l/_jTGatMv7C0jr
https://dl.doubtnut.com/l/_YfIAsFbWO3cz

4.In the figure, P is a point in the interior of a parallelogram ABCD. Show

that

2
(iiyar( A APD) + ar( A PBC) = ar( A APB) + ar( A PCD)

(iar( A APB) + ar( AN PCD = lar(ABCD)

° Watch Video Solution

5. In the figure, PQRS and ABRS are parallelograms and X is any point on

side BR. Show that


https://dl.doubtnut.com/l/_YfIAsFbWO3cz
https://dl.doubtnut.com/l/_vmHIdGqFerKh

ar(PQRS) = ar(ABRS)

oA

L

° Watch Video Solution

6. In Fig. 917, PQRS and ABRS are parallelograms and X is any point on
side BR. Show that (i) ar\ (PQRS)\ =)\ ar\ (ABRS) (i)

ar\ (AX\ S)\ = %\ ar\ (PQRS)

° Watch Video Solution



https://dl.doubtnut.com/l/_vmHIdGqFerKh
https://dl.doubtnut.com/l/_1fU8bXzuxU2B

7. A farmer was having a field in the form of a parallelogram PQRS. She
took any point A on RS and joined it to points P and Q. In how many parts
the field is divided? What are the shapes of these parts? The farmer
wants to sow wheat and pulses in equal portions of the field separately.

How should she do it?

° Watch Video Solution

Ncert Section Exercise 9 3

1.In the figure, E is any point on median AD of a A ABC. Show that ar(

A ABE)=ar( A\ ACE).


https://dl.doubtnut.com/l/_0wd2tY2FDG05
https://dl.doubtnut.com/l/_UXjbyqd8SFxZ

o Watch Video Solution

2. In a triangle ABC, E is the mid-point of median AD. Show that ar

1
( A BED) = Zar( A ABC).

o Watch Video Solution



https://dl.doubtnut.com/l/_UXjbyqd8SFxZ
https://dl.doubtnut.com/l/_97UaGg5roLHE

3.Show that the diagonals of a parallelogram divide it into four triangles

of equal area.

° Watch Video Solution

4. In figure, ABC and ABD are two triangles on the same base AB. If line

segment CD is bisectced by AB at O , show that ar


https://dl.doubtnut.com/l/_yt9lsetuKKBk
https://dl.doubtnut.com/l/_ADrXEoTmzZAQ

(A ABC) = ar( A ABD).

° Watch Video Solution

5.D, E and F are the mid-points of the sides BC, CA and AB of a triangle

ABC. Show that


https://dl.doubtnut.com/l/_ADrXEoTmzZAQ
https://dl.doubtnut.com/l/_oEWtOKBzhFDk

BDEF is a parallelogram

° Watch Video Solution

6.D, E and F are respectively the mid-points of the sides BC, CA and AB of
a AABC. Show that

1
ar( A DEF) = Za’r( A ABC)

° Watch Video Solution

7.D, E and F are respectively the mid-points of the sides BC, CA and AB of
a AABC. Show that

1
ar(BDEF) =§ar( A ABC)

° Watch Video Solution

8.In the figure, diagonals AC and BD of quadrilateral ABCD intersect at O

such that OB = OD. If AB = CD, then show that


https://dl.doubtnut.com/l/_oEWtOKBzhFDk
https://dl.doubtnut.com/l/_K2TOZaPA3aRv
https://dl.doubtnut.com/l/_FRJgIDQWecSR
https://dl.doubtnut.com/l/_656XfeQP2KL3

ar(ADOC) = ar(AAOB)

° Watch Video Solution

9.In the figur e, diagonals AC and BD of quadrilateral A BCD intersect at O

such that OB = OD. If AB = CD, then show that


https://dl.doubtnut.com/l/_656XfeQP2KL3
https://dl.doubtnut.com/l/_XWSmSzIwobuf

L

ar(ADCB) = ar(AACB)

° Watch Video Solution

10. In the figure, diagonals AC and BD of quadrilateral ABCD intersect at O

such that OB = OD. If AB = CD, then show that


https://dl.doubtnut.com/l/_XWSmSzIwobuf
https://dl.doubtnut.com/l/_9NqeCrQUDdZa

DA 11 CB or ABCD is a parallelogram.

° Watch Video Solution

11. D and E are points on sides AB and AC respectively of AABC such that

ar(ADBC) = ar(AEBC). Prove that DE I | BC.

° Watch Video Solution

12. XY is a line parallel to side BC of a triangle ABC. If BE | | ACand

CF | | ABmeet XY at E and F respectively, show that


https://dl.doubtnut.com/l/_9NqeCrQUDdZa
https://dl.doubtnut.com/l/_jzpsc6LeY3af
https://dl.doubtnut.com/l/_2UMgy4AcWksf

ar (ABE) = ar (ACF)

° Watch Video Solution

13. The side AB of a parallelogram ABCD is produced to any point P. A line
through A and parallel to CP meets CB produced at Q and then
parallelogram PBQOR is completed. Show that

ar (ABCD) = ar (PBQR).

° Watch Video Solution

14. Diagonals AC and BD of a trapezium ABCD with AB || DC intersect each

other at O. Prove that ar(AAOD) = ar(ABOC).

° Watch Video Solution

15. In the figure, ABCDE is a pentagon. A line through B parallel to AC

meets DC produced at F. Show that


https://dl.doubtnut.com/l/_2UMgy4AcWksf
https://dl.doubtnut.com/l/_tKNWp6KgAG0y
https://dl.doubtnut.com/l/_FjEb8EFZU6RE
https://dl.doubtnut.com/l/_IoLQZCmJVoYx

ar(AAEDF) = ar(AABCDE)

° Watch Video Solution

16. A villager Itwaari has a plot of land of the shape of a quadrilateral. The
Gram Panchayat of the village decided to take over some portion of his
plot from one of the corners to construct a Health Centre. Itwaari agrees

to the above proposal w



https://dl.doubtnut.com/l/_IoLQZCmJVoYx
https://dl.doubtnut.com/l/_m9TYX2lPoCN3

| o Watch Video Solution

17. ABCD is a trapezium with AB||DC. A line parallel to AC intersects AB at X

and BC at Y. Prove that ar(AADX) = ar(AACY).

o Watch Video Solution

18. In the given figure, AP||BQ||/CR. Prove that

ar(AAQC) = ar(APBR)

A =



https://dl.doubtnut.com/l/_m9TYX2lPoCN3
https://dl.doubtnut.com/l/_KsiOJySteHmp
https://dl.doubtnut.com/l/_ZGUHq6XWanEy
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19. Diagonals AC and BD of a quadrilateral ABCD intersect at O in such a

way that ar(AAOD) = ar(ABOC). Prove that ABCD is a trapezium.

o Watch Video Solution

Ncert Section Exercise 9 4

1. Parallelogram ABCD and rectangle ABEF are on the same base AB and

have equal areas. Show that the perimeter of the parallelogram is greater

than that of the rectangle.

° Watch Video Solution

2.In figure ,D and E are Points on side BC of a AABC such that BD=CE

and AD=AE.Show that AABD >~ AACE.


https://dl.doubtnut.com/l/_ZGUHq6XWanEy
https://dl.doubtnut.com/l/_gOTZGWG8eymE
https://dl.doubtnut.com/l/_C65RoCfsZDes
https://dl.doubtnut.com/l/_tnml8lEjzDFa

B ]D IEI C

° Watch Video Solution

3.In the figure, ABCD, DCFE and ABFE are parallelograms. Show that ar(A

ADE) = ar(ABCF).

A R



https://dl.doubtnut.com/l/_tnml8lEjzDFa
https://dl.doubtnut.com/l/_cj4npkGcw3GQ

° Watch Video Solution

4.1n the figure, ABCD is a parallelogram and BC is produced to a point Q
such that AD = CQ. If AQ intersect DC at P, show that ar(ABPC) = ar(A

DPQ).

o Watch Video Solution

5. In figure, ABC and BDE are two equilateral triangles such that D is the

mid-point of BC. If AE intersects BC at F, show that


https://dl.doubtnut.com/l/_cj4npkGcw3GQ
https://dl.doubtnut.com/l/_CTRO9MPuNna7
https://dl.doubtnut.com/l/_lwIMuTt3so5j

!

ar(ABDE) = 1/4 ar(AABC)

° Watch Video Solution

6. In figure, ABC and BDE are two equilateral triangles such that D is the

mid-point of BC. If AE intersects BC at F, show that


https://dl.doubtnut.com/l/_lwIMuTt3so5j
https://dl.doubtnut.com/l/_Blte0UFv1Iox

ar(ABDE) = 1/2 ar(ABAE)

° Watch Video Solution



https://dl.doubtnut.com/l/_Blte0UFv1Iox

7.1n figure, ABC and BDE are two equilateral triangles such that D is the

mid-point of BC. If AE intersects BC at F, show that

]

ar(AABC) =2 ar(ABEC)

° Watch Video Solution



https://dl.doubtnut.com/l/_RpePzYMpXwmT

8. In figure, ABC and BDE are two equilateral triangles such that D is the

mid-point of BC. If AE intersects BC at F, show that

ar(ABFE) = 2 ar(AFED)

° Watch Video Solution



https://dl.doubtnut.com/l/_6T4FxaKpPKZK

9. Diagonals AC and BD of [0 ABCD intersect each other at point P.
Show that

ar( A APB) x ar( A CPD) = ar( A APD) x ar( A BPC)

° Watch Video Solution

10. P and Q are respectively the mid-points of sides AB and BC of a
triangle ABC and R is the mid-point of AP, show that

ar(APRQ) =1/2 ar(AARC)

° Watch Video Solution

M. In AABC, P is a point on BC such that BP: PC' = 4:5 and Q is the

mid - point of BP. Then area (AABQ) : area (AABC) is equal to :

° Watch Video Solution



https://dl.doubtnut.com/l/_6T4FxaKpPKZK
https://dl.doubtnut.com/l/_A4Xl6IgRWkPi
https://dl.doubtnut.com/l/_HgE321hBCMLJ
https://dl.doubtnut.com/l/_NStMgqggNsmQ
https://dl.doubtnut.com/l/_uJRlFCBpZids

12. ABC and BDE are two equilateral triangles such that D is the mid-point

1
of BC. Then, ar(ABDE) = Ear(AABC).

° Watch Video Solution

13. ABC is a right triangle right angled at A. BCED, ACFG and ABMN
aresquares on the sides BC, CA and AB respectively. Line segment
AX 1 DFEmeets BCat Y. Show that:(i) AMBC = AABD(i) ar\ (BYX

D)\ =\ 2\

° Watch Video Solution

14. ABC is a right triangle right angled at A. BCED, ACFG and ABMN
aresquares on the sides BC, CA and AB respectively. Line segment
AX 1 DFEmeets BCat Y. Show that:(i) AMBC = AABD(i) ar\ (BYX

D)\ =\ 2\

° Watch Video Solution



https://dl.doubtnut.com/l/_uJRlFCBpZids
https://dl.doubtnut.com/l/_N10velsm1Uea
https://dl.doubtnut.com/l/_g4DBMgDuxDEN
https://dl.doubtnut.com/l/_MGOs3CidhXhI

15. ABC is a right triangle right angled at A. BCED, ACFG and ABMN
aresquares on the sides BC, CA and AB respectively. Line segment
AX 1 DFEmeets BCat Y. Show that:(i) AMBC = AABD(i) ar\ (BYX

D)\ =\ 2\

° Watch Video Solution

16. ABC is a right triangle right angled at A. BCED, ACFG and ABMN
aresquares on the sides BC, CA and AB respectively. Line segment
AX 1 DFEmeets BCat Y. Show that:(i) AMBC = AABD(i) ar\ (BYX

D)\ =\ 2\

° Watch Video Solution

17. In Figure, ABC is a right triangle right angled at
A, BCED, ACFGand AMN are square on the sides
BC, CA and AB respectively. Line segment AX | DFE meets BC at

Y Show that: ar (CY XE) = 2ar( FCB)


https://dl.doubtnut.com/l/_MGOs3CidhXhI
https://dl.doubtnut.com/l/_V4yLVC63doRF
https://dl.doubtnut.com/l/_3Ldr6ZYIqziS

° Watch Video Solution

18. In Figure, ABC is a right triangle right angled at
A, BCED, ACFGand AMN are square on the sides
BC, CA and AB respectively. Line segment AX | DE meets BC at

Y. Show that: ar (BY XD) = ar (ABMN)

° Watch Video Solution

19. In Figure, ABC is a right triangle right angled at
A, BCED, ACFGand AMN are square on the sides
BC, CA and AB respectively. Line segment AX | DE meets BC at

Y. Showthat: FCB =~ ACE

° Watch Video Solution

Exercise Multiple Choice Questions



https://dl.doubtnut.com/l/_3Ldr6ZYIqziS
https://dl.doubtnut.com/l/_MMg0LfsmBYVO
https://dl.doubtnut.com/l/_XoD4TfWjxSxR
https://dl.doubtnut.com/l/_I6EacedT66Tg

1. The area of a rhombus is 20cm?. If one of its diagonals is 5 cm, the
other diagonal is

A.5cm

B.6cm

C.8cm

D.10 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_I6EacedT66Tg

2.The area of trapezium PQRS in the adjoining figure is

A 112 em?

B. 120 cm?

C. 160 cm?

D. 180 cm2

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_PDqr00V1aXj5

3. In the adjoining figure,
/ZAOB = 90°, AC = BC,OA = 10cm and OC = 13cm. . TheareaofAA

is

L[ o

0 ol

A. 120 cm2
B. 135 cm?
C.140cm?

D. 148 cm2


https://dl.doubtnut.com/l/_PDqr00V1aXj5
https://dl.doubtnut.com/l/_GKeEPozHYTZK

Answer: A

° Watch Video Solution

4.1n the adjoining figure, the area of quadrilateral ABCD is

b cm

A. 148 cm?

B. 144cm?

C.120 cm?

D. 122 em?

Answer: B

I ° Watch Video Solution



https://dl.doubtnut.com/l/_GKeEPozHYTZK
https://dl.doubtnut.com/l/_GafEz5CSCSeN

5. In the adjoining figure, ABCD is a parallelogram. Then its area is equal

to

A.9 cm2

B.12 cm2

C.15 cm2

D. 36 cm?


https://dl.doubtnut.com/l/_GafEz5CSCSeN
https://dl.doubtnut.com/l/_D7aOXVu2bYLR

Answer: B

° Watch Video Solution

6. Which of the following figures lie on the same base and between the

same parallels ?

A H
& F
L
A H [
B.
i
[
i
C.

D. all of these


https://dl.doubtnut.com/l/_D7aOXVu2bYLR
https://dl.doubtnut.com/l/_JulsbghbkGLp

Answer: B

° Watch Video Solution

7.1n a parallelogram ABCD, AB = 12 cm and the altitude corresponding to

AB is 8 cm. If AD=10 cm, then the altitude corresponding to AD is equal to

A.8.5cm

B.9cm

C.9.6cm

D.10.8 cm

Answer: C

° Watch Video Solution

8.In the given figure, /ZBAD = /ADC =90° and AX | | BC. If AB =BC =10

cm and DC =16 cm, then the area of ABCX is


https://dl.doubtnut.com/l/_JulsbghbkGLp
https://dl.doubtnut.com/l/_TSnlJlPJEkos
https://dl.doubtnut.com/l/_kjfGeG522DCb

A. 80 cm2

B. 40 cm2

C.20 cm?

D. 42 cm?

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kjfGeG522DCb

9.The area of a rhombus if the lengths of whose diagonals are 16 cm and

24 cm, is

A. 180 em?

B. 184 cm?

C.198 em?

D. 192 em?

Answer: D

o Watch Video Solution

10. The area of a trapezium whose parallel sides are 9 cm & 16 cm and the

distance between these sides is 8 cm, is

A. 60 cm?

B. 72 cm?

C. 56 cm?>


https://dl.doubtnut.com/l/_Dza2MgpER5Tz
https://dl.doubtnut.com/l/_dXGfHpNIEsPo

D. 100 cm?

Answer: D

° Watch Video Solution

1. In the adjoining figure, ABCD is a quadrilateral in which diag. BD = 14

cm. If AL 1L BD and CM 1 BD such that AL =8 cm and CM = 6 cm,


https://dl.doubtnut.com/l/_dXGfHpNIEsPo
https://dl.doubtnut.com/l/_izUxtC2MOHCq

find the area of quad. ABCD.

A. 60 cm?

B.72 cm2


https://dl.doubtnut.com/l/_izUxtC2MOHCq

C. 84 cm?

D. 98 cm2

Answer: D

° Watch Video Solution

12. pAND q are any two points lying on the sides DC and AD

respectively of a

ar(APB) = ar (BQOC)-

A.ar(AAPB)
B.ar(APBC)
C.ar(AAPD)

D. None of these

Answer: A

parallelogram

ABCD.

Show

that

° Watch Video Solution



https://dl.doubtnut.com/l/_izUxtC2MOHCq
https://dl.doubtnut.com/l/_qgsLpq0ojjXK

13.In the given figure, ABCD and FECG are parallelograms equal in area. If

ar(AAQE) = 12em?,find ar( | | gmFGBQ)

I (i

A 12 cm?

B. 20 cm?

C.24 cm?

D. 36 cm?>


https://dl.doubtnut.com/l/_qgsLpq0ojjXK
https://dl.doubtnut.com/l/_mH8WOc1BU2t0

Answer: C

° Watch Video Solution

14. In figure, ABCD is a parallelogram, AE | DC and CF 1 AD.If AD =

12 cm, AE = 8 cm and CF=10 cm find CD.

A.17 cm

B.12 cm

C.10 cm

D.15cm

Answer: D



https://dl.doubtnut.com/l/_mH8WOc1BU2t0
https://dl.doubtnut.com/l/_jp1v7E3QULhu

_ ° Watch Video Solution

15. In a triangle ABC, E is the mid-point of median AD. Show that
1
ar (BED) = i (ABC)
A 2
B.1/4
C.4

D.1/2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jp1v7E3QULhu
https://dl.doubtnut.com/l/_JAxQKJFAKARX

16. In figure, ABCD is a trapezium in which AB I | DC. Find the length of DC.

[ L M

oF 4 em 4ecm £

E o

A. 17 cm

B.11 cm

C.13 cm

D.15cm

Answer: C

o Watch Video Solution

17. In the figure, ABCD is a quadrilateral BD = 20 cm. If AL | BD and

CM 1 BD such that AL =10 cm and CM = 5 cm, find the area of quad.


https://dl.doubtnut.com/l/_95o3Ge8rE3UA
https://dl.doubtnut.com/l/_9LK7j7yrsamN

ABCD.

A

A. 150 em?

B. 180 cm?

C.100 em?

D. 140 cm2

Answer: A

| o A _L vl . o e~ ..


https://dl.doubtnut.com/l/_9LK7j7yrsamN

L T Vvvallil VIUCO o0IuULiori

18. Calculate the area of quad. ABCD.

17 am

A.102 em?

B. 154 cm?

C.132 em?

D. 114 cm?

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9LK7j7yrsamN
https://dl.doubtnut.com/l/_QgN5BvQn3YIF

19. In the given figure, AB 1. AD, BC | BD and AD =9 cm, BC = 8 cm

and CD= 17 cm. Find the area of quadrilateral ABCD

A. 112 em?

B. 114 cm?

C. 119 em?

D. 117 cm2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dD1QHizJZXR3

20.If E, F, G and H are respectively the mid-points of the sides of a

1
parallelogram ABCD, show that ar(EFGH) = Ear(ABCD).

A 1/3
B.2/3
C.4/3

D.3/4

Answer: A

o Watch Video Solution

21. PQRS is an isosceles trapezium in which PS =10 cm, PQ = SR =13 cm and

the distance between PS and QR is 12 cm. Find the area of the trapezium.

A. 180 cm2
B. 160 cm?

C.176 cm?


https://dl.doubtnut.com/l/_lCalbsmq9gYY
https://dl.doubtnut.com/l/_yU6ZHczFcnqf

D. 194 cm?

Answer: A

° Watch Video Solution

22.Theorem 9.1 : Parallelograms on the same base and between the same

parallels are equal in area.

A. perimeter

B. volume

C.area

D. weight

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yU6ZHczFcnqf
https://dl.doubtnut.com/l/_MJVFG6CQsrOr

23. Which of the following figures lie on the same base and between the

same parallels?

A B
Al -
P Q
B. 5 R
B
r‘
D .
C Q

D. Both (a) and (c)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_q7Q9zhAZgtYA

24.If PS is median of the triangle PQR, then ar(APQS): ar(AQRP) is

F

A1:1
B.2:1
C1:2

D. Can't be determined

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uYNP94l7wOP7

25. In parallelogram PQRS, find SM.

A.9cm

B.7cm

C.5cm

D.12 cm

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_uYNP94l7wOP7
https://dl.doubtnut.com/l/_8pB5g8cWO6mp

26. In a trapezium ABCD, AB || DC, AB =a cm,and DC =b cm. If M and N are

the midpoints of the nonparallel sides, AD and BC respectively then find

the ratio of ar(DCNM) and ar(MNBA).

A.(3b+a): (3a+b)

B.(3a+b):(3b +a)

C.(2a +3b): (3a+b)

D. (3a + 2b): (2a + 3b)

Answer: B

o Watch Video Solution

27.1n a class, teacher gave two cardboard pieces having equal area which

are in the shape of a parallelogram to two groups. Find h.


https://dl.doubtnut.com/l/_KO89XnDo46gp
https://dl.doubtnut.com/l/_NEY0oYTlPE2Q

!
!

A j
+— E om La

LTk |

A.48 cm
B.9.6 cm
C.22cm

D.4.6 cm

Answer: A

||.r|'II.'I1'| |

bk 5 oy ——

o =i I—'I-.\,

Caroug

° Watch Video Solution

28. In the figure, ABCD is a square. E and Fare midpoints of AD and BC

respectively. The ratio of areas of AGAB and AHAB



https://dl.doubtnut.com/l/_NEY0oYTlPE2Q
https://dl.doubtnut.com/l/_H4c2JdzgnNUl

A4:1

B.1:4

C1:2

D.2:1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_H4c2JdzgnNUl

29. In the given figure, PQRS is parallelogram, then find the area of APQX.

5 X -

Bom

o 0 cm o

A. 80 cm?
B.40 cm2
C.120 cm?

D. 60 cm?

Answer: A

° View Text Solution

30. If the area, base and corresponding altitude of a parallelogram are 2,

x -3 and x + 4 respectively, then the value of x is


https://dl.doubtnut.com/l/_GyuZ5g5mqpSl
https://dl.doubtnut.com/l/_CwZJPMsX7tY8

A 12

B.13

C.3

D.4

Answer: A

o View Text Solution

31.In the given figure, AD is the median and E is any point on AC, such

that ar(AMDE) : ar(AABD) = 2 : 3, then find the ratio of ar(AEDC): ar(A


https://dl.doubtnut.com/l/_CwZJPMsX7tY8
https://dl.doubtnut.com/l/_9F89rOAhJRvP

ABC).

A.3:4

B.1:6

C.6:1

D.4:3

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_9F89rOAhJRvP

32.The figure formed by joining the midpoints of the adjacent sides of a

rectangle of sides 8cmand 6 cm is a

2

A. rectangle of area 24 cm

B. square of area 24 cm?

C. trapezium of area 24 em?

D. rhombus of area 24 cm?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xIwTKWewHNos

33. PQRS is a rhombus in which ZR = 60°. Then PR : QS =

: K

A.\/§:1
B.\/§:\/§
C.3:1

D.3:1

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_7RWULyoVjrJC

34. The lengths of the diagonals of a rhombus are 12 cm and 16 cm. The

area of the rhombus is

A. 192 cm?

B. 96 cm2

C. 64 cm?

D. 80 cm?

Answer: B

o View Text Solution

35. In a quadrilateral ABCD, it is given that BD =16 cm. If AL | BD and

CM 1 BD such that AL=9 cm and CM =7 cm, then ar( quad. ABCD) is


https://dl.doubtnut.com/l/_aBieo4PxA8Ve
https://dl.doubtnut.com/l/_NT4IdhysjMFo

A. 256 cm?

B. 128 cm2

C.64 cm2

D. 96 cm?

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_NT4IdhysjMFo
https://dl.doubtnut.com/l/_8yJVO2zySzcv

36. In. the figure the angles BAD and ADC are right angles and AE | | BC, if

AB =BC =5 cm and DC=9 cm, find AD.

E

A.3cm

B.4 cm

C.12cm

D.6cm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8yJVO2zySzcv

37. ABCD is a parallelogram in which BC is produced to E such that CE =

BC. AE intersects CD at F.

E

If ar(ADFB) = 3cm?, then find the area of the parallelogram ABCD.

A. 6 cm2
B. 12 cm?
2

C.9cm

D. 18 cm2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4WGq7rTfxx9g

38. A swimming pool, 30 m long has a depth of water of 80 cm at one end

and 2.4 m the other end. Find the area of the vertical cross-section of the

pool along the length.

A. 54 m>

B. 48 m?

C.36 m?

D. 42 m?

Answer: B

° Watch Video Solution

39. In a square PQRS, X and Y are mid points of sides PS and QR
respectively. XY and QS intersect a t O. Find the area of AXOS, if PQ =8

cam.


https://dl.doubtnut.com/l/_4WGq7rTfxx9g
https://dl.doubtnut.com/l/_PzQId2UehgXj
https://dl.doubtnut.com/l/_2hyiaEg5S6B7

A.6 cm?

B. 12 cm?

C.4 cm2

D. 8 cm?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2hyiaEg5S6B7

40. In figure, if ar(AABC) = 28 em?, then find ar( I119™ AEDF).

A. 21 cm?

B. 18 cm?

C.16 cm?

D.14 cm2

Answer: D


https://dl.doubtnut.com/l/_GZ58aYb2Lxe6

o Watch Video Solution

41. Which of the following statements is false?

A. If the point D divides the side BC of MBC in the ratio m : n then ar(
AABD) : ar(AADC) =m: n.

B. A quadrilateral formed by joining the midpoint of the sides of a
quadrilateral in order, is a parallelogram.

C.If Pis any point on the median AD of a AABC, then ar (AABP) # ar

(AACP).

D. None of these

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_GZ58aYb2Lxe6
https://dl.doubtnut.com/l/_Gh2A85LXOzlX

42. The medians of AABC intersect at point G. Prove that:
1
area of AAGB = 3 X area of AABC
A 4
B.3
C.1

D.2

Answer: B

o Watch Video Solution

43. The perimeter of an isosceles right triangle is 2p, its area is

A (3-24/2)p’
B.(1-2¢/2)p?
C.3+2v2)p’

D. (1+2/2)p’


https://dl.doubtnut.com/l/_AvobiSCuQBEC
https://dl.doubtnut.com/l/_10C4VufNPHjW

Answer: A

° Watch Video Solution

44. In the figure, the semicirce centered at O has a diam.eter 6 cm. The
1
chord BC is parallel to AD and BC = EAD' The area of the trapezium

ABCD in cmz, is :

A4

B.44/2

C.8

D.8+/2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_10C4VufNPHjW
https://dl.doubtnut.com/l/_qJaiEdlC1K1j

45. In the following figure, AB Il CD. Diagonals AC and BD intersect at

point O.1f BO : OD =1: 3, then (area of AAOB)/(area of AABD) =

A B

A 1/4

B.1/9

C.16

D. 116

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nQYDMStqMKYB

Exercise Match The Following

1.In AABC, D and E are points on AB and AC respectively such that
DE||BC and DE divides the AABC into two parts of equal areas. Then
ratio of AD and BD is

A.P-4,0Q-2,R-3,S -1

B. P-2, Q-4,R-1,5-3

C.P-3,0Q-2,R4, S-1

D.P-1,0Q-2,R-3,S5-4

Answer: B

° Watch Video Solution

2. In the given figure, PQRS is a parallelogram. A and B are the mid-point

of PQ and SR respectively. If PS=BR, then the quadrilateral ADBC is


https://dl.doubtnut.com/l/_SPlDMU2ZqQZc
https://dl.doubtnut.com/l/_zM5qQzGc3PAi

A.P-4,0Q-2,R-1,5-3

B. P-1,0-2,R-3,5-4

C.P-2,Q-3,R-1, 54

D. P-3, Q-1,R4,S-2

Answer: D

° Watch Video Solution

Exercise Assertion Reason Type


https://dl.doubtnut.com/l/_zM5qQzGc3PAi

1. ABCD is a quadrilateral whose diagonals AC divides it into two parts,
equal is area. Then, ABCD is
A.If both assertion and reason are tme and reason is the correct
explanation of assertion.
B. If both assertion and reason are true but reason is not the correct
explanation of assertion.
C. If assertion is true but reason is false.

D. If assertion is false but reason is trne.

Answer: A

° Watch Video Solution

2. Assertion : If the diagonals of a rhombus are 8 cm and 12 cm, then the

area of rhombus is given by 96 cm?.


https://dl.doubtnut.com/l/_QyO68RkKVzeu
https://dl.doubtnut.com/l/_N6hguwTgrhaO

Reason : Area o f rhombus is 1/2 X d; x dy where d; and d, are the

lengths of the diagonals.

A.If both assertion and reason are tme and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is trne.

Answer: D

o Watch Video Solution

3. Assertion : In a parallelogram PQRS, QS is one of the diagonals then ar(
APQS) = ar(AQRS)

Reason : If a planar region formed by a figure R is made up of two no


https://dl.doubtnut.com/l/_N6hguwTgrhaO
https://dl.doubtnut.com/l/_1KMwWXe245lV

noverlapping planar regions formed by figures R; and R, then ar(R) = ar(

R;) + ar(R,).

A.If both assertion and reason are tme and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is trne.

Answer: B

° View Text Solution

4, Assertion : If area of AABD is equal to 24 e¢m? then a rea of p

arallelogram ABCD is 24 cm/?


https://dl.doubtnut.com/l/_1KMwWXe245lV
https://dl.doubtnut.com/l/_6oKLfJzS2VKb

A f

Reason : If a triangle and a parallelogram are on the same base and
between same parallels, then area of the triangle is equ al to h alf of the
parallelogram.
A.If both assertion and reason are tme and reason is the correct
explanation of assertion.
B. If both assertion and reason are true but reason is not the correct
explanation of assertion.
C.If assertion is true but reason is false.

D. If assertion is false but reason is trne.

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_6oKLfJzS2VKb

5. Assertion : In the given fig ure, the point D divides the side BC of
A ABC in the ratio m:n, then ratio of ar(ABD) and ar(ADC) is

m:n

N

b
. [

g

Reason : Area of triangle =1/2 x Base x Height

A.If both assertion and reason are tme and reason is the correct
explanation of assertion.

B. If both assertion and reason are true but reason is not the correct
explanation of assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_6oKLfJzS2VKb
https://dl.doubtnut.com/l/_nxZ8pYaT9SP8

D. If assertion is false but reason is trne.

Answer: A

° Watch Video Solution

Exercise Comprehension Type

1. ABCD is a trapezium in which AB || DC a and DC= 40 cm and AB = 60 cm.

If X and Y a re respectively, the midpoints of AD and BC, then

XY=

A.40 cm


https://dl.doubtnut.com/l/_nxZ8pYaT9SP8
https://dl.doubtnut.com/l/_MzujwOds8eZB

B.50 cm

C.60 cm

D.30cm

Answer: B

o Watch Video Solution

2.ABCD is trapezium in which AB | | DC, DC =30 cm and AB = 50 cm. If
X and Y are, respectively the mid-points of AD and BC, prove that
7
ar(DCY X) = gar(XYBA).
A. Trapezium
B. Parallelogram
C. Rectangle

D. Square

Answer: A

[ - 1


https://dl.doubtnut.com/l/_MzujwOds8eZB
https://dl.doubtnut.com/l/_m244CGahDKEH

| @J Watch Video Solution J

3.ABCD is trapezium in which AB | | DC, DC =30 cm and AB = 50 cm. If

X and Y are, respectively the mid-points of AD and BC, prove that

ar(DCY X) = %ar(XYBA).

A 1/2
B.2
C.11/9

D. 9/11

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_m244CGahDKEH
https://dl.doubtnut.com/l/_BTi76mEqiQMB

4. In the given figure, ABCD and AEFD a re two parallelograms.

I

A.BP

B.FQ

C.AP

D.CQ

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QXXGmf5XjvFx

5.In the given figure, ABCD and AEFD a re two parallelograms.

(ar(AAPE))/(ar(APFA)) =

A. (ar(AQFD))/(ar(APFD))
B. (ar(AAEF))/(ar(APFD))
C. (ar(AQFD))/(ar( AAEF))

D. None of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_00ghms1eHG5U

6.n the given figure, ABCD and AEFD a re two parallelograms.

I

ar(APEA) =

A.ar(| |9 APEA)
B. ar(APFD)
C.ar(AQFD)

D.ar(| |9 ACQPB)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_00ghms1eHG5U
https://dl.doubtnut.com/l/_8spoLyKyw74S

Exercise Subjective Problems Very Short Answer Type

1.If P is any point in the interior of a parallelogram ABCD , then prove

that area of the triangle APB is less than half the are of parallelogram.

° Watch Video Solution

2.0'is any point on diagonal AC of a parallelogram ABCD. Prove that :

area of AAOD = areaof AAOB

° Watch Video Solution

3. BD is one of the diagonals of a quadrilateral ABCD- AM and CN
are the perpendiculars from A and C , respectively, on BD- Show That

. 1 .
ar (quaABCD) ~ 5BDAM + CN

° Watch Video Solution



https://dl.doubtnut.com/l/_8spoLyKyw74S
https://dl.doubtnut.com/l/_9mszsdKeWXny
https://dl.doubtnut.com/l/_iCYKpp4raBrx
https://dl.doubtnut.com/l/_1NFnV3SLjtoH

4. ABCD is a quadrilateral. A line through D, parallel to AC, meets
BC produced in P as shown in Figure. Prove that

ar (ABP) = ar (QuaABCD)-

° Watch Video Solution

5. If ar(AABC) = 16 cm? then find the area of the triangle formed by

joining the mid points of the sides of AABC.

° Watch Video Solution

6. Find the a rea of a rhombus with length of diagonals as 8 cm and 14 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_A5MNv6Dqvt9t
https://dl.doubtnut.com/l/_4REupvWjHmTH
https://dl.doubtnut.com/l/_q3WqYjCk6UUL

7.1n the adjoining figure, find the area of the parallelogram ABCD.

Al i

a5 om

A M e

° Watch Video Solution

8. What is the ratio of areas of two parallelograms on equal bases and

between the same parallels?

° Watch Video Solution

9. What can you say about the area of two congruent figures?

° Watch Video Solution



https://dl.doubtnut.com/l/_yo09Y6dUVRDR
https://dl.doubtnut.com/l/_05QyKYOooVBG
https://dl.doubtnut.com/l/_mT9O2VaUynS5

Exercise Subjective Problems Short Answer Type

1. In A ABC, D is the mid-point of AB and P is any point on BC. If
CQ | | PD meets AB and Q (shown in figure), then prove that

ar(ABPQ) = %ar(AABC).

A

° Watch Video Solution

2. ABCD is a trapezium in which AB | | DC. DC is produced to E such tha t

CE= AB, prove that ar(AABD) = ar(ABCE).



https://dl.doubtnut.com/l/_BodRbGQa1uHl
https://dl.doubtnut.com/l/_NNNTpOAYEkk1

_ o Watch Video Solution I

3
3. Prove that the area of an equilateral triangle is equal to Taz, where

a is the side of the triangle.

° Watch Video Solution

4.1n the given figure, ABCD is a parallelogram. E and F are any two points

on AB and BC, respectively. Prove that ar( A ADF) = ar( A DCE).

° Watch Video Solution

Exercise Subjective Problems Long Answer Type

1. ABCD is a parallelogram. X and Y are mid-points of BC and CD. Prove

3
thatar( A AXY) = —ar( | |"" ABCD)
8

° Watch Video Solution



https://dl.doubtnut.com/l/_NNNTpOAYEkk1
https://dl.doubtnut.com/l/_IPkAd5gm0sS5
https://dl.doubtnut.com/l/_qDBjEGHWiUVa
https://dl.doubtnut.com/l/_wG0QOckhzW8C

2. The median BE and CF of a triangle ABC intersect at G. Prove that the

area of AGBC = area of the quadrilateral AFGE.

° Watch Video Solution

3.AD is a median of triangle ABC. G is a mid point of AD. If area of triangle

ABC is 16 sq. cm. Find the area of triangle GDC

A

° Watch Video Solution

Exercise Integer Numerical Value Type



https://dl.doubtnut.com/l/_wG0QOckhzW8C
https://dl.doubtnut.com/l/_oMTaFpcWRuKY
https://dl.doubtnut.com/l/_wxwIUjMymQwR

1. In parallelogram ABCD, AB = 10 cm. The altitudes corresponding to the
sides AB and AD are respectively 7 cm and 8 cm. If AD is k cm. Then value

of 4 kis

o Watch Video Solution

2. In the given figure, PQRS is a square and T and U are respectively, the

mid-points of PS and QR. Then what is the area of AOTS if PQ =8 cm?


https://dl.doubtnut.com/l/_yYmqto5PWi00
https://dl.doubtnut.com/l/_JnRQDTUSzjG6

", [

o Watch Video Solution

3. In the given figure LMNO and PMNQ are two parallelograms. R is any

point on side MP. If ar(ANRQ) = k[ar( 119 LMNO)] then 2k equals


https://dl.doubtnut.com/l/_JnRQDTUSzjG6
https://dl.doubtnut.com/l/_nEJIjaKGtGwN

o Watch Video Solution

4.D is the mid-point of side BC of AABC and E is the mid-point of BO. If O

is the mid-point of AE, then ar(ABOE) = 1/k ar(AABC). Then k equals

o Watch Video Solution



https://dl.doubtnut.com/l/_nEJIjaKGtGwN
https://dl.doubtnut.com/l/_wxhv5g7zZuuo
https://dl.doubtnut.com/l/_SGL9O4ymBict

5.1n the given figure, ABCD is a trapezium in which AB =9 cm, AD =BC=6
cm, DC = x cm, and distance between AB and DC is 2\/5 cm. The value of

area of trapezium ABCD is k/5. Find the value of k.

o Watch Video Solution

Olympiad Hots Corner

1. In the given figure ABCD is a rectangle and all measurements are in

centimeters. Find the area of the shaded region.


https://dl.doubtnut.com/l/_SGL9O4ymBict
https://dl.doubtnut.com/l/_0cwSlvJrgnXX

A. 240cm?

B. 205cm

C. 105¢m?

D. 95¢m?

Answer: C

° Watch Video Solution

2.In given AABC, AD and BE are medians of triangle which intersect

each other at point G. If area of ABDG is 1 cm?, then what is the area of


https://dl.doubtnut.com/l/_0cwSlvJrgnXX
https://dl.doubtnut.com/l/_0yJCq4O2IW4x

DCEG?

A.Zcm2

B. 3cm?

C. 4em?

D. lem?

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_0yJCq4O2IW4x

3.If side of a square is increased by 20% then the percentage increase in
its area is

A. 40%

B.20%

C.44%

D.30%

Answer: C

o View Text Solution

4. If each sides of a triangle is doubled then find the ratio of the area of

the new triangle thus formed and the given triangle.

Al:2
B.1:3

C.1:4


https://dl.doubtnut.com/l/_HVlSRLi9qC3x
https://dl.doubtnut.com/l/_9r3vP1NdXWKy

D.2:3

Answer: C

° Watch Video Solution

5. In the given figure, [ | | BC and D is the mid-point of BC. If area

(AABC) = a xarea(AEDC), then find the value of a.

|I nl. - —

Al

B.2

C.3

D.4



https://dl.doubtnut.com/l/_9r3vP1NdXWKy
https://dl.doubtnut.com/l/_7Amvex1vHFbp

Answer: B

° Watch Video Solution

6. The perimeter of the rectangular field is 206 meter. What will be its
area (in mz) if its length is 23 meter more than its breadth ?

A. 1520

B. 2420

C. 2480

D. 2520

Answer: D

° Watch Video Solution

7. A person walked diagonally across a square plot. Approximately, what

was the percentage saved by not walking along the edges?


https://dl.doubtnut.com/l/_7Amvex1vHFbp
https://dl.doubtnut.com/l/_dadh3lVXooe0
https://dl.doubtnut.com/l/_ggFFfpejsPyV

A.0.35

B.0.3

C.0.2

D.0.25

Answer: B

o View Text Solution

8.The perimeter of a right angled triangle is 24 cm. If its hypotenuse is 10

cm then area of this triangle is

A. 24 cm?

B. 10 cm?

C.12 em?

D.48 cm2

Answer: A



https://dl.doubtnut.com/l/_ggFFfpejsPyV
https://dl.doubtnut.com/l/_d9w4Jfzvajry

| o Watch Video Solution

9. In parallelogram ABCD, let AM be the altitude corresponding to the
base BC and CN the altitude corresponding to the base AB. If AB =10 cm,

AM =6 cm and CN =12 cm, then BC=__ cm.

A. 20

B.10

D.5

Answer: A

o Watch Video Solution

10.In triangle ABC,D is the midpoint of AB, E is the midpoint of DB and F is

the midpoint of BC. If the area of AABC' is 96, the area of AAEF is


https://dl.doubtnut.com/l/_d9w4Jfzvajry
https://dl.doubtnut.com/l/_2ZOofkv3m45b
https://dl.doubtnut.com/l/_BrxEDQkoPSz1

A.16

B. 24

C.32

D. 36

Answer: D

° Watch Video Solution

11. In the figure ABCD is a rectangle with AE = EF = FB, the ratio of the

areas of triangle CEF and that of rectangle ABCD is

[} g ——— i

A1l:6

B.1:8


https://dl.doubtnut.com/l/_BrxEDQkoPSz1
https://dl.doubtnut.com/l/_nzfusS1OmOyb

C.1:9

D.1:10

Answer: A

o Watch Video Solution

12. If the medians of APQR intersect at O, then ar (APOQ) =

A.ar (AQOR)


https://dl.doubtnut.com/l/_nzfusS1OmOyb
https://dl.doubtnut.com/l/_7Kc8H26sTU5k

B. éar(APQR)
C.Both (a) and (b)

D. Neither (a) nor (b)

Answer: C

o Watch Video Solution

13. In the figure, the area of square ABCDis4cm? and E any point on
AB,FH and K are the mid point of DE, CF, DG, and CH respectively.

The area of AKDCis -

Answer: B

[ - 1


https://dl.doubtnut.com/l/_7Kc8H26sTU5k
https://dl.doubtnut.com/l/_zVT4KLcbZnBV

| @J Watch Video Solution J

14.The diagonals of a parallelogram ABCD intersect at a point O. Through
O, a line a drawn to intersect AD at P and BC at Q. Show that PQ divides
the parallelogram into two parts of equal area.

A. Two parts of equal area

B. Two parts of areain 2 : 1

C. Two parts of areain 1: 3

D. Two parts of areain 4: 3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zVT4KLcbZnBV
https://dl.doubtnut.com/l/_d1JhzVbcStEM

